7704 Woodland Hills Road, Hickory, Burke County, North Carolina, United States, 28602
Gross Living Area: 1600 sq. ft

GARAGE (1)
[AREA: 1283]

Space Area (Sq . ft) Calcu |ati0n Coordinate Polygon Area Algorithm using inches
GARAGE 1283 ((904.7 + 904.7) * (219.8 - 539.2) + (904.7 + 326.3) * (539.2 - 539.2) + (326.3 + 326.3) * (539.2 -
(Non-living area) 219.8) +(326.3 +904.7) * (219.8 - 219.8)) * 0.5 * 0.00694
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PATIO (3)
[AREA: 186]

7704 Woodland Hills Road, Hickory, Burke County, North Carolina, United States, 28602
Gross Living Area: 1600 sq. ft
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[AREA: 147]

Ca|CU |atI0n Coordinate Polygon Area Algorithm using inches
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-((924.8 + 924.8) * (201.3 - 539.2) + (924.8 + 322.2) * (539.2 - 539.2) + (322.2 + 316.2) * (539.2 -
533.2) + (316.2 + 326.3) * (533.2 - 533.2) + (326.3 + 326.3) * (533.2 - 300.4) + (326.3 + 41.9) *
(300.4 - 300.4) + (41.9 + 41.9) * (300.4 - 201.3) + (41.9 + 924.8) * (201.3 - 201.3)) * 0.5 *
0.00694

-((326.3 +326.3) * (300.4 - 533.2) + (326.3 + 316.2) * (533.2 - 533.2) + (316.2 + 322.2) * (533.2 -
539.2) + (322.2 + 322.2) * (539.2 - 631.2) + (322.2 + 41.9) * (631.2 - 631.2) + (41.9 + 41.9) *
(631.2-300.4) + (41.9 + 326.3) * (300.4 - 300.4)) * 0.5 * 0.00694

(563 + 563) * (539.2 - 627.2) + (563 + 322.2) * (627.2 - 627.2) + (322.2 + 322.2) * (627.2 -
539.2) + (322.2 + 563) * (539.2 - 539.2)) * 0.5 * 0.00694

-((342.2 + 342.2) * (110.9 - 201.3) + (342.2 + 45.9) * (201.3 - 201.3) + (45.9 + 45.9) * (201.3 -
110.9) + (45.9 + 342.2) * (110.9 - 110.9)) * 0.5 * 0.00694



